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Instructions to the candidates:
1) All questions are compulsory.
2)  All questions carry equal marks.

Q1) Answer any one of the following questions in 500 words. [20]

a) How far the account of foreign travellers useful for the study of Ancient
Indian History.

b) Explain the saptanga theory.

02) Answer any one of the following questions in 500 words. [20]
a) Discuss the socio-religious factors for the rise of Buddhism and Jainism.

b) Explain the nature of satavahanas political structure.

03) Answer any one of the following questions in 500 words. [20]
a) Discuss the various factors of transition ancient to the medieval period.

b) What is Feudal? Explain the nature of Indian Feudal system.

04) Answer any one of the following questions in 500 words. [20]
a)  Explain the central and provincial administrative systems of Sharshaha Suri.

b) Discuss the Land revenue system under the mughal.

PTO.



05) Write short notes on any four of the following in 100 words.

a)
b)
c)
d)
e)
f)

Incriptions
Mahajanapadas
Iron Age
Patrimonial state
Mansab

Bhakti
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WTATAURT RV TehT TeT=r I 500 vregia ferat. [20]
) U TGS FATE U AR SfagErean siamamErdt fohaud sugeh
3.

) TEFT AT g w1

WTeATeTdeh! SRITTEATE TehT T9ATa 3T 500 vrsaia ferar. [20]

1)  Hieg STUT S UHTEAT IEATE HRUNYA STAeAT ATHTINT — €Tk Tehiet
Tl .

) ATAATEATAT THHRAR Faeftean HEET T8 .

WA cTieh] ShIUTeATEl ekt T9AT= IR 500 visara forar. [20]
3T) WA o HeAE a1 et fafae gewist =t .
) O TRUS KA ? WRATE SIS T6T T8 .

WTATAThT T TehT T9T=l 3T 500 isera ferar. [20]
) IR Gl gy omfur yifdes UomEa geadt TUE .
F) TR AHA HEH Uegdiel oel .



97 5)  Wielieideh! ShIveardl arer 100 vrsera drun ferar.
) wNT w@
) WU
%) g
g) TugEwes USa
3) wAEs
W) Wwh
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